Jharkhand Board Class 11 Sample Paper —Set 1

m BYJUS CLASS - XI Subject — Physics
Total no. of questions — 35 Maximum marks — 70
Unit-1 [Physical World & Measurement 02 04
Unit- 11 Kinematics 05 10
Unit - III Laws of Motion 05 10
Unit- 1V (Work, Energy and Power 03 06
Unit-V |Motion of system of Particles & Rigid Body 03 06
Unit- VI Gravitation 03 06
Unit - VII [Properties of Bulk Metter 05 10
Unit - VIII Thermodynamics 02 04
Unit - 1IX Behaviour of perfect Gas & Kinetic Theory of Gases 02 04
Unit- X Oscillations & Waves 05 10
Total 35 70
Set -1

Physics (Class — XI)
Following questions are multiple choice. Mark the correct choice.

Each question have same marks (2 marks)

Total number of questions = 35

Total marks (35 x 2) =170
frefaRea 7o sgfiaa o | 98 fidey W fem @y |
TS W WA 3B B 8 (2 3P)

T T D FEAT =35

HA 3P (35x2) =170

I. 1 Newton is equivalent to —
(A) 10* dyne (B) 10° dyne (C) 10° dyne (D) 107 dyne .
1 e T © —
(A)10*szT (B)10°=139 (C) 10° S13H (D) 107 8737 |
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2. Dimensional formula for frequency -

EBYJ_U'S ) o, .
(A) M7'PT?  BYMLIT?  (C) MLT (D) M'LT".
3mafa @1 i 97§ -
(A) M7'PT?  B)MLT?  (C) ML (D) M'LT".

3. What does the speedometer of a vehicle read/measure?
(A) Average Speed (B) Average velocity
(C) Instantaneous speed (D) Instantaneous velocity .
forelt e a1 |heiMeR T AAT 87
(A) 3Fa 91 (B) 39d 91 (C) eifora arel (D) ameedforen o
4. Which of the following is a vector quantity —
(A) Time (B) Distance (C) Displacement (D) Speed .
= § &9 w1 e wfew iy ® -
(A) 91 (B)30 (C)fdRmE (D) T d |

5. Relation between linear velocity (v) and Angular velocity () -
A)v=ro B o=rn ©Or=ve @[D) v=2.
r
YR 9T (v) @O Bl 9 (w) § 9§ —

A)v=ro B) o =rw (CO)r=veo (D) v=2
r
6. Rate of change of angular velocity is called —
(A) Angular momentum  (B) Angular displacement

(C) Frequency (D) Angular acceleration .

Frofra 91 aRad @ R B o P I & |

(A) PR FIT (B) M fdRemd () amgfy (D) dMig @R |
7. Relation between time period (T) and frequency (v)

(A)u:% (B) v=T (C)u:% D) =1,

gd $Iel (T) T4 MR (v) § T & -

(A)u:]? (B) v=T (C)u:% (D) 2=

8.  Newton’s first law of motion define —
(A) Energy (B) Work (C) Inertia (D) Moment of inertia .
R B A FT YW T arh d¥r @

(A) Hl (B) 313 (C) e (D) e T |
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9.

12.

13.

14.

15.

An object of mass 2kg is moving with acceleration of 50 cm/s®. Then force acting on it —
(A)IN (B) 10N (C) 100N (D)25N..

2 AR A &1 %] 50 Wilo /Ho” & @RV | TV & | §9 W [ ATl gl &N —
(A) 17ge (B) 10 g (C) 100 =g+ (D) 25 =g |

In case of uniform motion acceleration is

(A) Zero (B) Positive (C) Negative (D) None of these .
TH A T DI FARRT H TR o gl ®
(A) I (B) HIcH (C) FOTcHD (D) ST A ®Ig & |

A constant retarding force of 50 N is applied to a body of mass 10kg moving initially
with a speed of 10 ms™. The body comes to rest after -

(A) 2 second (B) 4 second (C) 6 second (D) 8 second .

50N @1 ReR #Sd 9, 1091} /Adpvs @I a1l | YRfAD $Y F T4 X B 10 BT 527" &
favg w o ST 2 | fhan wwg g a8 five sanr?

(A) 2 AFTS (B) 4 WavS (C) 6 AT (D) 8 AFTS

The direction of force of friction —

(A) Perpendicular to the direction of motion of object
(B) Along the direction of motion of object

(C) Opposite to the direction of motion of object

(D) None of these .

Y1 g B fowm —

(A) 9] &I Tfd & oo & a=qd (B) &g @ Tfd & fazm @l 3R
(C) &g @ Tl & feen & fauda (D) T 9 Fig T8l |

Out of the following, which is not the unit of energy —

(A) Joule (B) Kilo-Watt (C) Calorie (D) Electron-Volt .
fr & o Swt &1 aEd T R
(A) Tl (B) faparare (C) &t (D) TR |

Two bodies of masses 1kg and 2kg have equal momentum. Then the ratio of their kinetic
energies is —

(A)1:2 (B)2:1 (€) 1:42 D)1:4.

T [T ael QN A & A FE kg IR 24kg B FAD A IS @1 U
K, : K, 8 -

(A)1:2 (B)2:1 (C) 1:42 D) 1:4.
In perfectly elastic collision —

(A) Only momentum is conserved

(B) Momentum and kinetic energy both are conserved

(C) Neither momentum nor kinetic energy is conserveel .

(D) Only kinetic energy is conserved .
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(A) Ba GIT WET A &1 (B) TR TG AT Foft GH1 GRfd =/ ¢
(C) T @ [T 3R T & AT ol WA w81 (D) DI TAT Hodl GRIQT & 2 |
16.  S.I. unit of moment of Inertia is —
(A) Kgm (B) Kgm™ (C) Kgm™ (D) Kgm’
TSI T S.L 7FF § —
(A) fm—rex (B) fom Aex’ (C) fomr drex? (D) fow AR |

17. A couple produces —

(A) Only linear motion (B) Only ratational motion
(C) Linear and ratational motion both (D) No motion .

TP g—F¥ S avdl 8

(A) Dad YT Tfg (B) ®ad guiA i

(C) X 3R gui fd 3l (D) ®1§ A S el & |

18.  The centre of mass of'a body —
(A) Lies always at the geometrical centre ~ (B) Lies always inside the body
(C) Lies always outside the body (D) May lie within or outside the body .
fosft v @1 g & -
(A) &9 AIfAdT o R Rd g 2 (B) &9 fivs & 3y Rerd BT &
(C) &9 five & arex R 81T & (D) fIvg & 3= a1 qex Rerd & |qael & |
19.  Kepler’s second law is a consequence of —

(A) Conservation of energy (B) Conservation of linear momentum

(C) Consevation of angular momentum (D) Conservation of mass

aer &1 fedta fram @1 aRum @ —

(A) STl RET0T (B) X [T WO (C) DIV [T WO (D) THHH GRE
20.  Which of the following statements is correct regarding the gravitational force ?

(A) The gravitational force is dependent on the intervening medium

(B) The gravitational force is a non-conservative force

(C) The gravitational force forms action-reaction pair

(D) The gravitational force is a non-central force .

7 # | PN BAFT THATHI I D G § Wl & 7
(A) TH@AHY g1 Feac] Aegq W AR FRam 2 (B) TGV gl SRRl g1 &I ®
(C) TH@HY g fhar-wfofsa g ? (D) HEEHYY dd AG% ol &l ¢ |
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mg!‘"{‘é S.I.unit of "G is—
(A) Nm? Kg™ (B) NmKg? (C) NmKg™ (D) Nm* Kg™
G 1 S.L D —
(A) Nm™ Kg™ (B) NmKg™? (C) NmKg™ (D) Nm* Kg™.
22.  Solids which break above the elastic limit are called —
(A) Brittle (B) Ductile (C) Malleable (D) Elastic.
4 3 S YRy WA R T W 8, HEAd & —
(A) R (B) T (C) 3mard =g (D) TR |
23.  The shear modulus is also known as —
(A) Bulk modulus (B) Young’s modulus
(C) Modulus of rigidity (D) Poisson’s ratio .

TETVT U T AE W FE AT 2
(A) ITITT FARAAT TOH (B) T JeIREAAT vl

(C) 33T oI (D) 9w 3qud |
24. Unit of Pressure —
(A) Dyne (B) Pascal (Pa) (C) N-m (D) N m?
2 B IFB 8] & —
(A) ST (B) TR&d O AR (D) Rg-Ared?

25. Hydraulic brakes are based on which law?

(A) Pascal’s law (B) Torricelli’s law (C) Newton’s law (D) Boyle’s law.
%9 drferd § fog W R R 27

(A) TRGd &1 M (B) aAIRKA &1 3w (C) A &1 ™ (D) I &1 9 |

26.  Out of the following, which is the fastest mode of transfer of heat?

(A) Conduction (B) Convenction (C) Radiation (D)A and B
fAmfafan @19 W faf gRT S 1 UFRRY G A B & 7
(A) T (B) ¥ag (C) fafdry (D)A 3R B

27. The zeroth law of thermodynamics leads to the concept of —
(A) Internal energy (B) Heat content (C) Pressure (D) Temperature
SHMiE @ T A R @ FHEA J]HE BN ¢ |
(A) IIRT SHoft (B) TH wrft (C) T4 (D) dm9
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8.

29.

30.

31.

32.

33.

34.

In Adiabatic process, relation between volume (v) and pressure (p)

(A) PV =Constant  (B) ;:Constant (C) PV™" =Constant (D) PV" = Constant.
SEW WA (Adiabatic process) ¥, JTITT (v) T TME (p) & A HaE el g -
(A)PV=Fudiz  (B) §: Paaie  (C) Py = fadie (D) Py =Riudiel

Value of universal gas constant (R)

(A) 831/ mol” K™ (B) 8.0/ mol” K™ (C) 6.67J mol” K™ (D) 3.45J mol K™
[RU A 1 F40@ (R) $T A &1 © -
(A) 831Jmol' K™ (B) 8.0Jmol”' K™ (C) 6.67J mol' K™ (D) 3.45J mol 'K

If the pressure and the volume of certain quantity of ideal gas are doubled, then its

temperature .................

(A) Become doubled (B) Become one-fourth

(C) Remains constant (D) Become four times.

Afe e 1 @1 (Af¥Fd 41 @ <@ 9 A G AR QU A €, ! b e
(A) 3T (B) To—derT (C) frmm (D) TR T

Time period of simple pendulum

(A) T:27r\ﬁ (B) T:27r\g (©) T:\/zﬂi @)=L [L
g ) g 2z \ g

TR AT Bl 3Macald —

(A) T=27r\/z (B) T=27r\/§ (©) T:\/z;zi (D) T=L\ﬁ.
g ) g 27\ g

Frequency of second pendulum.

(A) 0.5Hz (B) 1 Hz (C)0.25 Hz (D)2 Hz

JPUS Gl N T B 2

(A) 0.5Hz (B) 1 Hz (C)0.25 Hz (D)2 Hz

Which of the following expressions does not represent simple harmonic motion?
(A) x=Acoswt+Bsinwt (B) x=Acos(wt+a)

(C) x=Bsin(wt + ) (D) x=Asinwtcos’ wt.

1 # | P FAD TR SN T PN AH Al PR o7

(A) x=Acoswt+Bsinwt (B) x=Acos(wt+a)

(C) x=Bsin(wt + ) (D) x=Asinwtcos’ wt.

A progressive wave is represented by y =5sin(10077 - 27x), where xand y in meter and
¢ in second. Then maximum particle velocity -
(A) 100r m/s (B) 200r m/s (C)4007 m/s (D) 5007 m/s .

70
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m TG T TR By = 5sin(10071 - 27x) ERT @h &A1 ST €, W& x TG p Hlo # & @7 ¢

JBvS H 8| U B AT AHAW BT —

(A) 1007 Hio /Ho (B) 2007 Hio /o (C) 4007 Ho /Jo (D) 5007 #io/Wo
35. The Doppler effect is applicable for —

(A) Sound waves only (B) Light waves only

(C) Both Sound and Light waves (D) None of these

SeR v AR 81T ©

(A) Badl ey @ F forg (B) ®ael FHa @XM B forg

(C) eaf¥ Td yebrer @i awm & forg (D) &H 3 1S & |
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